CENTER BOLT WITH NUT FLAT CENTER BOLT
FIL 0153 12 X 200 1 FIL 0201 24 X 350
3 FIL 0154 12X250 112 FIL 0202 24 X 360
& FIL 0155 12X 280 113 FIL 0203 24 X 380
7 AL IBRE 114 FIL 0204 24 X 400
76 FIL 0157 12 X 350
77 FIL 0158 14 X 160
78 FIL 0159 14 X 180
79 FIL 0160 14 X 200
T -BOLT WITH NUT
80 FIL 0161 14 X 210
81 FIL 0162 14 X 220
82 FIL 0163 14 X 230
83 FIL 0164 14X 250 FIL 0214 48 MM M 18 X 2 659 112 477
84 FIL 0165 14 X 260 116 FIL 0215 52 MM M 18 X 2 659 112 468
85 FIL 0166 14 X 280 ‘ 117 FIL 0216 55 MM M 18 X 2 659 112 438
86 FIL 0167 14 X 300 118 FIL 0217 60 MM M 18 X 2 659 112 450
87 FIL 0168 14 X330 119 FIL 0218 65 MM M 18 X 2 659 112 451
88 FIL 0169 14 X350 120 FIL 0219 70 MM M 18 X 2 659 112 448
8 FIL 0170 14 X 400 121 FIL 0220 75 MM M 18 X 2 659 112 452
%0 FIL 0171 16 X250 122 FIL 0221 80 MM M 18 X 2 659 112 453
91 FIL 0172 16 X 300
123 FIL 0222 95 MM M 18 X 2 659 112 454
92 FIL 0173 16 X 350
124 FIL 0223 110 MM M 18 X 2 659 112 455
93 FIL 0174 16 X 380
o FIL 0175 16X 400 125 FIL 0224 125 MM M 18 X 2 659 112 456
= T T 126 FIL 0225 140 MM M 18 X 2 659 112 457
9 FIL 0177 18 X 250 127 FIL 0226 155 MM M 18 X 2 659 112 444
97 FIL 0178 18 X 300
98 FIL 0179 18 X 320
99 FIL 0180 18 X 350
100 FIL 0181 18 X 360 T - BOLT WITH NUT
101 FIL 0182 18 X 380
103 FIL 0184 18 X 420 ¢
FIL 0236 57 MM M 20 X 2 659 112 616
104 FIL 0185 18 X 450
129 FIL 0237 80 MM M 20 X 2 659 112 617
105 FIL 0186 20 X 250
130 FIL 0238 100 MM M 20 X 2 659 112 611
106 FIL 0187 20 X 300
(07 FIL 0188 20 X 360 131 FIL 0239 115 MM M 20 X 2 659 112 612
. - - 132 FIL 0240 130 MM M 20 X 2 659 112 613
109 FIL 0190 20 X 380 133 FIL 0241 145 MM M20 X2 659 112 614
110 FIL 0191 20 X 400
[ 6 |




FITEX INDUSTRIES LTD.

WHEEL BRACKET
134 FIL 0251 FORGING 659 002 171
135 FIL 0252 CASTING 659 002 171

WHEEL BRACKET
136 FIL 0262 FORGING 659 002 129
137 FIL 0263 CASTING 659 002 129

WHEEL BRACKET
FIL 0273 CASTING 659 002 215

WHEEL BRACKET
FIL 0283 CASTING 659 002 117

WHEEL BRACKET
FIL 0293 CASTING 659 002 101

FITEX INDUSTRIES LTD.

HUB BOLT

BEST SUITABLE : R.O.R.

FIL 0303 MIDDLE NURLING (LEFT) 21273 L
142 FIL0304 MIDDLE NURLING (RIGHT) 21272R
143 FIL0305 UPPER NURLING (LEFT) 21277 L
144 FIL0306 UPPER NURLING (RIGHT) 21276 R
145 FIL0307 MIDDLE NURLING WITH 21401

WASHER NUT (LEFT)
146 FIL0308 MIDDLE NURLING WITH 21403
WASHER NUT (RIGHT)
147 FIL0309 UPPER NURLING WITH
WASHER (LEFT)
148 FIL0310 UPPER NURLING WITH
WASHER (RIGHT)
HUB BOLT

BEST SUITABLE : MAN

FIL0320 22 X1.5X 110 UPPER NURLING WITH 01455010082
WASHER NUT

HUB BOLT
BEST SUITABLE : MERCEDES

FIL 0330 18 X 60 COLLER NUT
151 FIL 0331 18 X 70 COLLER NUT
152 FIL 0332 20 X 60 COLLER NUT
153 FIL 0333 20 X70 COLLER NUT 3524020071
154 FIL 0334 20 X 85 COLLER NUT 3274020271
155 FIL 0335 22 X80 COLLER NUT 3814010171
156 FIL 0336 22 X90 COLLER NUT 3814010371
157 FIL 0337 22 X100 COLLER NUT 3814010471
158 FIL 0338 22 X110 COLLER NUT 3814010771
159 FIL 0339 22 X115 COLLER NUT 3814010871
160 FIL 0340 22X70 FRONT ACTROS
161 FIL 0341 22 X90 FRONT ACTROS
162 FIL 0342 22 X125 REAR ACTROS




FITEX INDUSTRIES LTD.

FITEX INDUSTRIES LTD.

HUB BOLT TORQUE ROD BOLT

BEST SUITABLE : B.P.W. BEST SUITABLE : B.P.W.

FIL 0352 22 X2 X 110 WITH TWO NUT 0329623150 174 FIL 0399 30 X 150 MM

(COLLAR NUT) 175 FIL 0400 30 X 225 MM

164 FIL 0353 22X 2 X110 WITH TWO NUT 0329613090 176 FIL 0401 36 X 160 MM

(PLAIN NUT) 177 FIL 0402 36 X 180 MM

165 FIL 0354 22X 15X 115 WITH TWO NUT 0329623170 178 FIL 0403 36 X 225 MM
(NEW MODEL)

- SPRING PIN KIT
HUB BOLT D i MRS
eae E— o\ m—
ENEN X
& FIL 0413 FRONT 395 320 0645
166 FIL 0364 22 X1.5X92 COLLER NUT o -

180 FIL 0414 REAR 395 320 0665
167 FIL 0365 718X 11 X7/8 X 14 X 102 WITH TWO NUT (LEFT)
168 FIL 0366 7/811 X 7/8 X 14 X 102 WITH TWO NUT (RIGHT)
AXLE NUT KIT
BEST SUITABLE : YORK
BEST SUITABLE : VOLVO
FIL 0424 63 MM SET OF 3
169 FIL 0376 SMALL NURLING (F/T)
170 FIL 0377 LONG NURLING (F/T)
AXLE NUT KIT
BEST SUITABLE : R.O.R.
TORQUE ROD BOLT m REF. NO. “ TYPE

BEST SUITABLE : R.O.R.

171

FIL 0434 65 MM SETOF 3

FIL 0387 22 X150 MM
172 FIL 0388 22 X180 MM
173 FIL 0389 22 X200 MM




	Page 1
	Page 2
	Page 3

